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(3)

Air pollution is not caused by :
(A) Hydroelectric power

(B) Industries

(C) Pollengrains

(D) None of the above

Which of the following is/are the

source(s) of social pollution ?

(A) Effluent and sewage
(B) Chemical fertilizers
(C) Pesticides

(D) All of the above

Which of the following is a Green house
gas ?

(A) Oxygen

(B) Nitrous oxide

(C) Hydrogen

(D) None of the above

Which of the following is a sink for
carbon ?

(A) Old oil fields

(B) Wetlands

(C) Both (A)and (B)

(D) None of the above
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(4)

The first line of defense against pollutant
is imparted by :

(A) Air

(B) Water

(C) Soil

(D) None of the above

Agricultural Chemical denotes :

(A) Fertilizers

(B) Pesticides
(C) Growth regulators

(D) All of the above

Carbon monoxide is a major pollutant of :

(A) Air
(B) Soail
(C) Water

(D) None of the above

Most harmful pollutant is :

(A) SO,
(B) SOs
(C) COs

(D) None of the above

Set-A



10.

11.
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10.

11.

Soils check the mobility of pollutants by :

(A) Sorption

(B)

Biological degradation

(©)

Chemical degradation

(D) All of the above

The most common pesticide used in India

is:

(A) Baygon

(B) DDT

(C) BHC

None of the above

(D)

N

r pollution effects are usually found

on:

Leaves

(A)
(B) Roots
Stems

(©)

None of the above

(D)
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15.
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(C) CFC
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12.

14.

Air quality indicator is :
(A) Lichen

(B) Moss

(C) Algae

(D) All of the above

This is the most potent green house gas in

terms of efficiency :

(A) CH,
(B)
(©)

(D)

C.0
CFC

None of the above
Plant based pesticides is/are :
(A) Nicotene

(B) Neem oil

(©)

(D) None of the above

Both (A) and (B)

Which of the following gases has the
highest contribution to global warming ?
(A) Methane

(B) Nitrous oxide

(C) Carbon dioxide

(D) None of the above
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16. W9 Te9 wwg & forv f=iforiRag § 9@ 16. Which of the following gases is

-8 9 ReR £ 2 responsible for Green house effect ?
(A) NO, (A) NO;,
(B) CO;, (B) CO,
(C) 02 (C) 02
(D) Sugad FHI (D) Al of the above
17. S Q. 3. @1 Dsha Bl W 17. Spraying of D. D. T. on crops produces
T e T 2 pollution of ....................
(A) a1, Wl 3R gl (A) Air, Soil and Water
(B) de g 3R gl (B) Air and Soil only
(C) ®dd da1g 3R A (C) Air and Water only
(D) Suga H A Bl 7Tl (D) None of the above

18. SIS Savd Ty UgqU BT PRYI 18. Pesticide fertilizer causes  which

g & 7 pollution ?

(A) 9T ggyur (A) Soil pollution
(B) Sfel Ygmo (B) Water pollution
(C) drg Uy (C) Air pollution
(D) Sugad FI (D) All of the above

SSAC-5009 (7) Set-A
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21.

22.

fefeid & 9w S SR g1 ugu
&1 I ©

(A) T

(B) oFd UfdR I

(©) ¥ e

(D) SWa &l

st A §

(A) TN
(B) JifHmR®e

(C) JABHEH HaBTIN

(D) SWE ¥ | TS el

frforRad & & BI9-91 Ugu® T8 € ?

(A) BT SRifaITSS
(B)
(C) HEF AFRITFRIES

(D) SWa ¥ ¥ I3 T
frefoed # & dF-a1 g |aed

I BT T &3l & 7
(A)  AFEE 3R Tel FeE

(B)  STTOM

T SIS S

(C) 3IST IUTeH
(D) SWad # | BIS T
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19.

20.

21.

22.

One of the following is the chief source

of water and soil pollution :

(A)
(B)
(©)
(D)

Mining
Thermal power stations
Agro-industry

All of the above

Bordeaux mixture is :
(A) Antibiotic
(B)
(©)

(D)

Organophosphate
Inorganic fungicide

None of the above

Which of the following is not a

pollutant ?
(A)
(B)
(©)
(D)

Carbon dioxide
Sulphur dioxide
Carbon mono-oxide

None of the above

Which of the following is an area of

remote sensing application ?

(A)
(B)
(©)
(D)

Mapping and water resources
Census
Egg production

None of the above

Set-A



23.

24,

25.

ffeiRad 4 9 BI9-91 U6 Yd Usyd
el § Wl 9al UG Bl SR Gl & ?
(A) TS I

(B) NI &g

(C) g JifavTge

(D) SWH # W B &

frafofea & & s A9 g9 A4
T B 7

(A) N,0
(B)

co,

(©)

so,

(D) SWa ¥ ¥ IS T
BICIbAhd W &1 Heg [Bd Ugu 4
g ?

(A) a3

(B) <l

C) v

(D) ST W
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23.

24,

25.

Which of the following is not a major

pollutant which causes soil pollution ?
(A) Mineral oil

(B) Heavy metal

(C) Nitrogen oxides
(D) None of the above

Which of the following is not a green

house gas ?

(A)

N,O
(B)

co,

(©)

so,

(D) None of the above

Photochemical smog is related to the

pollution of :

(A) Air

(B) Soil

(C) Water

(D) All of the above

Set-A
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27.

28.

29.

SSAC-5009

RA H 3 991 $9 BRU Y A
Tl T

(A) T H e

(B) T &l

(C) & ¥ & so,

(D) SW& H W PIg T

7T G ST Uh 0T Hadd ¢
(A) YNNG WY &

(B) ifd® wWrRey &1

(C) IRIRG WReG I

(D) Suda Wl

Fefoiad & 9@ @M T o oifdd
WIfde AgEIor fhidwr daciRar & ?
(A) TSl

(B) WrETeR

(C) Tulleddey

(D) Suga H A Bl 7Tl

g i g8 9 wa @ T @
forg fobe R T SR fdam AT o ?
(A) fFerdE

(B) IN® TRe

(C) SISl

(D) SUYa H A Bl 7l

(10)

26.

27.

28.

29.

Acidic rains are not common in India due
to:

(A) Dustin air

(B) Rural areas

(C) Less SOy in air

(D) None of the above

Soil organic matter is a good indicator of :
(A) Chemical health

(B) Biological health

(C) Physical health

(D) All of the above

Which one among the following is a free
living aerobic nitrogen fixing bacteria ?
(A) Rhizobium

(B) Cyanobacter

(C) Azotobacter

(D) None of the above

Before World War II, which chemical

was used for pest control ?
(A) Nicotine

(B) Boric acid

(C) DDT

(D) None of the above

Set-A



30, fHfoRed & ¥ @991 3 I 30. Which one of the following gases can

deplete ozone layer in the upper

qYATSH H AWM WA Bl T B Febell
atmosphere ?

g ?

(A) e (A) Methane

(B) i (B) Ammonia

(C) HEF AFRIfFIES (C) Carbon monoxide

(D) SW@ ¥ ¥ FIg T (D) None of the above
31. fy=foRed § @ @l9-wr sfsdssd 31 Which of the following is biodegradable

s 2 7 pollutant ?

(A) S < (A) DDT

(B) wIRed (B) Plastic

(C) ast (C) Sewage

(D) SUYH H ¥ BIg el (D) None of the above

32. -8R daTel eRT U9 & Wd # Ufa 32. Blue-green algae can add upto what

TR AL £ sy A Gﬁ‘s’ S quantity of nitrogen per hectare to a rice
field ?

g ?

(A) 30—35 fdiT. /%, (A) 30-35 kg/ha.

(B) 25-30 foim. /%, (B) 25-30 kg/ha.

(C) 20-25 fm. /%, (C) 20-25 kg/ha.

(D) 10—15 f&m. /. (D) 10-15 kg/ha.

SSAC-5009 (11) Set-A



33.  d1g YUl T 33. Air pollution industries are :

(A) fdg @@ (A) Point sources

(B) &3 I (B) Areasources

(C) TIrgd rd (C) Line sources

(D) SWa &l (D) All of the above

34, 9 Be9 T H Mt § 34.  Green house gas include :

(A) CH. (A) CHq

(B) N0 (B) N0

(C) CO, (C) CO;

(D) SUgad JHI (D) All of the above

35, HH-9 N9 Te9 19 999 e Amn 35.  Which is the most abundantly found

T o & ? green house gas ?

(A) LIbE] (A) Methane

(B) el diH (B) Water vapour
(C) T STRifaTsS (C) Carbon dioxide
(D) SUgdd FHI (D) All of the above

36. HMd INR § S S . DI Algar d¢ ol 36. DDT concentration increases in the

¥ 7oty o W BT human body because it is soluble in :
(A) TEH H (A) Protein

(B) o H (B) Fat

(C) faerfem # (C) Vitamins

(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (12) Set-A



37. %A a9 ® AgSl b BRI Bl 37. Acid rain is caused by oxides of .............
gl

(A) TR AR eI (A) Sulphur and Nitrogen
(B) TSSO iR BleH (B) Nitrogen and Carbon
(C) THR IR ATgeIoH (C) Sulphur and Nitrogen
(D) SWE ¥ | FIg el (D) None of the above

38, for qoEe # ) @1 Ry 9R-dR @ar 38, In which temperature soil develops
39 slowly ?
(A) ¥ (A) Cold
B) Hi (B) Summer
(C) x¥d (C) Rainy
(D) SUYa H H IS el (D) None of the above

39. UST uMl @ fhue gW g fer om 39, Polluted water can be purified by using ;
qHT § ?
(A) T (A) Algae
(B) dIcAIG (B) Pesticides
(C) &g (C) Micro-organisms
(D) Suga H A Bl el (D) None of the above

40. Uil BT UNG T YT B © ¢ 40.  Plants receive nutrients from :
(A) TP | (A) Light
(B) TRl A (B) Atmosphere
C) I ¥ (C) Soil
(D) Sugad FHI (D) All of the above

SSAC-5009 (13) Set-A



41. G IR AZCNH B IffFITES qg?qt([tl‘[ 41. Oxides of sulphur and nitrogen are

PERE 3 important pollutants of :
(A) dY & (A) Air
(B) &I d (B) Soil
C) Wdd (C) Water
(D) Sugad FHI (D) All of the above
42. eI GEollg e 3Afed Al B T 42.  Soil microorganisms are most active at :
(A) 40—45 f&Ift Afr W (A) 40-45°C
(B) 20—25 feift wfes W (B) 20-25°C
(C) 10—15 f&ift fesm w (C) 10-15°C
(D) 34-36 oIt Afewmra (D) 34-36°C
43. Sifdd AT 89 geor fhadl |- 43. Biological oxygen demand test is made
& forv fovar omar & ? for measuring :
(A) 9<T UguIT (A) Soil pollution
(B) €di~ yguul (B) Noise pollution
(C) Sfel Uy (C) Water pollution
(D) SUJa H § I Tl (D) None of the above
44. =faRgd & 9§ 99-9T Uey  EEH 44. Which of the following plant hormones
BT & APl £ ? inhibits growth ?
(A) Siifdor (A) Auxins
(B) fraxfer (B) Gibberellins
(C) Ul TRre (C) Abscissic acid
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (14) Set-A



45. Tige 9T fog R ¥ Bidl & ? 45.  Global warming is caused by :

(A) EE@GFT (A) Hydrogen
(B) HieH (B) Methane
©) W+ z=d ™ (C) Green house gases
(D) SWE ¥ | FIg el (D) None of the above
46. W ¥ YAl W fhad wfwd Soil 46, How much percent of energy is absorbed
SgaRE B ? from the Sun to Earth ?
(A 75% (A) 75%
(B) 25% (B) 25%
(C) 50% (C) 50%
(D) SWE ¥ | TS el (D) None of the above
47. IR Hded SUUB Pl AT AT 2 47. Remote sensing satellite is known as :
(A) gdrI SUUE (A) Polar satellite
(B) ?Iﬁ—gouqni?dq) REDE (B) Sun-synchronous satellite
(C) (A) ¥R (B) T (C) Both (A) and (B)
(D) Suga H A Bl 7l (D) None of the above
48.  Sfcl YU Pl DRI 2 48. Reason of water pollution is :
(A) DD (A) Pesticides
(B) SO gl (B) Population growth
(C) (A) 3R (B) T (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (15) Set-A



49. UIol & U 9f fog fohar gn g—rﬁi;w 49. Sewage water can be purified for

& R e RIRIT o7 T & 7 recycling with the action of :
(A) Bl (A) Fishes

(B) Il e (B) Agquatic plants

(C) qeHoid (C) Micro-organisms

(D) SWE ¥ | TS el (D) None of the above

50. foforRad § & F-91 Uh PleAed A8]  50. Which of the following is not a

s 9 pesticide ?

(A) SIS (A) D.D.T.

(B) dI. T4, . (B) B.H.C.

(C) TUBfsA (C) Ephedrine

(D) STYH H ¥ PIg el (D) None of the above
51. fiva &1 9o URIg PIeavs B 51. The most famous pesticide of the world

is :

(A) fide (A) Flit

(B) dI. U@ ¥ (B) BHC

() S.9 < (C) DDT

(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (16) Set-A



52. BIN-9 UgUS Hal USWUl @ YgE@ Wid  52. Which pollutant is the major source of

80 marine pollution ?

(A Haa (A) Sewage

(B) 3N smufdre id (B) Industrial waste water
(C) B 3uarE (C) Agricultural runoff
(D) SUYd H A I el (D) None of the above

53. fyfiRed ¥ & HHF-9 U ool g 53. Which of the following is a water

polluting factor ?

BRE © ?

(A) 3 (A) Ammonia
(B) fSeoie (B) Detergent
(C) & smfdre (C) Industrial waste
(D) Sugad FI (D) Al of the above

54. IEER® ®©Y § SN fhar S 9ral 54. The first organic pesticide to be used

TEdT SR BIeATeE o | commercially was :

(A) 2, 43I (A) 2,4-D

(B) arer fasmr (B) Bordeaux mixture
() .93 (C) DDT

(D) SUYa H A Bl 7Tl (D) None of the above

SSAC-5009 (17) Set-A



55.

56.

ST UGYUT @l HHR Bl WaAUeM [

REEIRING

(A) o

(B) HHH

(C) fewmhes

(D) SWa ¥ ¥ I el
2, 4-31 TP & :

(W) Fie e

(B) TRYJARATN

(©) (A) 3R (B) 3

(D) SWa ¥ ¥ I3 T

55.

56.

Who was the first to recognise the

problem of water pollution ?

(A) Thales

(B) Thomson

(C) Hippocrates

(D) None of the above

2,4-Disa:

(A) Growth regulators

(B) Weedicide

(C) Both (A) and (B)

(D) None of the above

57. fyfaled # § S-0 o1g 9 UgmH & 57

Which of the following metals is a water

pollutant and causes sterility in human

AR 7T ¥ SO B BROT T ?

being ?
(A) Hg (A) Hg
(B) Mg (B) Mg
(C) As (C) As
(D) Mn (D) Mn

SSAC-5009 (18) Set-A



58. @Il AR I & RO G Seagwar # 58, Loss of agricultural productivity due to

g1 BT 2 pests and diseases is :
(A) 5% (A) 5%

(B) 10% (B) 10%

(C) 15% (C) 15%

(D) 30% (D) 30%

59. fy=foRed & 9 fow deed &1 g 59. Which of the following wavelengths is

normally used in remote sensing ?

AT R e H fdar S @ 2

(A) IR & TN (A) Near infrared
(B) <RI (B) Visible

(© (A) 3R (B) Tl (C) Both (A)and (B)
(D) SUYa H H IS Tl (D) None of the above

60. fa=folRad & ¥ H-91 YRAA H N9 60. Which of the following is the major cause

of poor health in Indians ?
WY HT Y BRI § ?

(A) T UguT (A) Soil pollution
(B) drg UG (B) Air pollution

(C) Tl Ugyu (C) Water pollution
(D) SUgad JHI (D) All of the above

SSAC-5009 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.
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